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Seat No.| |

MARCH - 2022 (Summer session) Examination

Subject Code: 60424
(fereareai=it g1 forwa wte OMR =X fgm@T / Student should fill this code on OMR sheet)
Subject Name: Master of Arts (Home Science) Semester_60424_60424 - Statistical

Date: 20- 08 2022 Time: 16:00:00 to 17:00:00

QP Code: 10338QP (Pursk ~ S, Sern — ’Si)

Total Marks 50 Each Question 2 Marks, Total 25 Ques, Duratlon 1Hr

1. The average of lower limit of a class and upper limit of same class is called......... / ar=An
W qatest o &= FEri aP= Agigr didl SEid. .. ... RO

a. Mid-point/ 74 feig b. Correction factor/ U ©ceh

c. Class width/ rf & d. None of these / AT FTEET TGl

2. Frequency of a variable is always.... / RRUa@t aRARAT 484! ... 306

a. In percentage/ Tesarid b. A fraction/ 37quTieh

c. An integer/ quiich d. None of these / aTieht wTglal ATat

3. To obtain more than cumulative frequencies we add the frequencies from ... / T&T sHt
a.top to bottom/ T& WA b. bottom to top/ TBIRH TRIGd
;:..eit:her"a_). orb)/ TR a) feab) d. None of these / aTdhl FTEET TG

4. We can obtain Mode from ...... / et Ay A ey Tl ...

s
| * iC
a. less than ogive/ U&TT T ogive b. greater than ogive/ U&ll ST ogive %‘%\J@/

c. Histogram / R d. None of these / aTdeh! @il ATat S @
8T =

5. Graph that is useful for locating partition values is...../ fr¥T= qed MYTIEET ST

a. less than ogive/ U&T &H! ogive b. greater than ogive/ 4% SIT& ogive
c. Botha) and b) /31t a) 30T b) d. None of these / ATdeI FTgiat TGt

6. If the classes are formed in such a way that upper limit of one class is equal to lower limit
of next successive class then the classes are known as ....../ S aTIdL 37T TR TAR H> e <l
mmwmwmmmﬁwmmmm ...... U 3MeEs S,

a. Open end type/ 31U U8 U&R b. Exclusive type/ 379 U
c In(_:luswe type/ HAGHTIRIH WhR d. None of these / aTdeh! Hgiat ATgt

7. The mean of a set of items 6, 8, x, 12, 11, 10, 9, 4 is 10 then value of x is...... 16,8 %12, 11,
10, 9, 4 T TSN AT 10 3 T x A e R ......

a.15 b.10
c.20 d.18
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8. If five observations having same value 25 what will be true.... / SR 9= &0 99 74 25.

a.AM.=25/T.UH. =25 b. Median = 25/ ATeh = 25
¢c. Mode = 25/ Hig = 25 d.Alla,b & c/Td 31, F 3O &%

9. The mean and mode of 3, 5, 4, 5, 10, 8, 5, 8 are.../ 3, 5, 4, 5, 10, 8, 5, 8 T AW =70 A

a.(5,6). b. (6,5)
c.(5,8) d. None of these / AT4eh! HTta! AT

10.-:In;t &-case when first and last class intervals are open end type, one can find... / ufgear
a Rénge/ = b. Mean Deviation/ 79T fa=reA
c. Standard Deviation/ A fa=e d. Quartile Deviation/ ilﬁ?f% IEERE]

11. If variance is 225 and arithmetic mean is 100 then the value of C.V. will be

225 S AT BV TEH 100 3G TR C.VH eI IHB........
a.225 b.2.25
c.22.5 d.15

12. For deciding consistency of two series we use...... / & HTfcsenT YERTAAT SIAVITHIST ST

AT ...
a. Coefficient of Q.D. / QD = T[uTish b. Coefficient of variation/ f¥d=! T[urieh
‘e. Coefficient of S.D. / S.D ¥ urish d. None of these / ATdeh HTEIg! ATe!

13. The standard deviation of a set of values will be..... / =T 9T AH® [a9e ... 3THd
a. Positive when values are positive/ SisgT 7o 9= b. Negative when values are negative/ Siegl 74

ST gl U ST AT degl 9

c. Always positive/ JgHt & d. None of these / aTdeh! gt ATl

14. The correlation co-efficient 0.6 indicates twice the relationship than the correlation .
coefficient 0.3..../ HGHAY OIS 0.6 § HGHAY Ul 0.3 HEUAUTUHT g I TIaA......

a.Yes/ g b. No/ =&t

c. Can’t say/ ST 3rehd AATel d. None of these / ATt Sretgt @t

15. If the points in the scatter diagram lies on a rising straight line then the correlation

between them is ...../ SR ®hex et ie foig e 9t WaR 4o @ diameE

Fol 0 IR AT
‘a.1 _ ; b.0
c. 7 d. None of these / ATdeh HTatar Trat
16. Karl-Pearson’s correlation coefficient (r) lies between....../ Fe-FaHTaT WEORYSY Ul
(3MN) ...... T 2R,
a.0=r<1 b.-1<r<0
.=l =r=1 d.0<r<10
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17. The sign of regression coefficients byx and bxy are....../ I urie byx 3ol bxy @ &g

a. Opposite/ fa%g b. Same/ THTH
c. May be opposite or same/ fareg foar g d. None of these / Tdeht FTatal ATt

18. If mean of X is 10 & mean of Y is 20 and byx =1.2 then for X = 15 the value of Y is...../ Si* X
1 HIH 10 379 301 Y =1 #19 20 3@ 1f0r byx = 1.2 8@ @ X = 15 961 Y I Ie4..... 378

a.14 b.21.5
c.26 § d. None of these / Tt FTalel A/at

19. To estimate the value of X for given value of Y, we use regression equation of ...../ Y =T
a.YonX/YaX b.XonY/X=RY

c. any one/ahIUTdTEl Uk d. None of these / aTieh! gla! et

; 20. If events A & B are mutually exclusive then P [AUB] = .../ SR H 9T 3T G & § Tl
O g% Aha A1g! aX P [AUB] = ......
a.P(A) + P (B)—P (AB) b.P (A)-P (B)
c.P(A)+P(B) d. None of these / aTteht sigial Aer

21. The occurrence or non-occurrence of event A does not affects occurrence or
non-occurrence of event B then the events A & B are ...../ 31 =1 91 g0l fhar aeT A GA R A
=it AT BT fohat w2t 7 ol &1 AT R T RIS AT TR e

~a. _Equall;r iikely/ T e dl b. Dependent /3Ta&eT
c. Independent /&= d. Mutually Exclusive/ T3&R 390

22. In a single through of a fair die, the probability of getting number 5’ is ..../ |TET GIHT

Ut $ehld '5' shHTs MAevard! Iadl...... 318
a.1/6 b.2/6
c.3/6 d. None of these / aTteht shigigt et

23. The probability of rejecting Null Hypothesis when it is true is called as.../ I IReeIT

ATHTRUATH TAFIAT HAegT @ WX ITAA AT ... T RUTATA
a. Level of Confidence/ 3T fargTam= qrdest b. Level of Significance/ Ag<ar=il UTcies!
c. Level of Margin/ SHTET Tcest d. Level of Rejection/ &R Urdest

24. Type II error is......./ FHR II T2 ........ TR,
a. ng HO when it is true/ HO Steg1 & ¥ b. Rejecting HO when it is false/ HO @ic 31T

ATHRO
(o Acf:eptmg HO when it is false/ HO @2 3/@a™T  d. Rejecting HO when it is true/ HO SiggT @ 9
HO Tieror 318 degl HO STehroY
25. Testing HO : p = 50 against H1: p#£50isa..../ 9roft HO : p = 50 against H1: p#50 &1 ....
TR,
3 : b. One sided right tailed test / TeT STS[=i SSTAT
a. Two sided test/ S STS[= AT A= S =i
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c. One sided left tailed test/ TehT STS[=IT ST TS :
=y d. None of these / Tt Eig! ATgt :
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